He dado con la solución:

a/ Buscamos las imagenes de los segmentos que forman la frontera D:

T(u,v)=(4u,2u+3u)

0<=u<=1 x=4u
1<=v<=3 y=2u+3u

1/
v=1              x=4u                            x=1/2 x +3
0<=u<=1     y=1/2 x + 3                 0<=x<=4
                     0<=x<=4


2/
v=3                x=4u                             y=1/2 x +9
0<=u<=1      y=2u + 9                       0<=x<=4
                      0<=x<=4

3/
u=1               x=4                              x=4
1<=v<=3      y=2+ 3u                       5<=y<=11
                     1<=v<=3

4/
u=0                 x=0                          x=0
1<=v<=3         y=3v                       3<=y<=9
                        1<=v<=3
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